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QUESTION 1

Which IEEE standard defines the Data Link Layer, Discovery protocol?
A. 802.1AB

B. 802.1AX

C. 802.1D

D. 802.1W

Correct Answer: A

Reference: http://www.ieee802.org/3/frame_study/0409/blatherwick_1 0409.pdf

QUESTION 2

What is the Organizationally Unique Identifier (OUI) in the MAC address 00:C4:4F:23:AF:4A?
A. 00:C4:4F

B. 00:C4:4F:23

C. 23:AF:4A

D. 4F:23:AF:4A

Correct Answer: A

QUESTION 3

What accurately describes IPv6 addressing?

A. IPv6 addresses are denoted by eight groups of four hexadecimal numbers.

B. IPv6 uses 128 hexadecimal numbers instead of the 32 hexadecimal numbers used by IPv4.
C. IPv6 is used to converse IP addresses and utilize private addresses.

D. IPv6 uses broadcast addresses for neighbor discovery.

Correct Answer: A

Reference: https://en.wikipedia.org/wiki/IPv6_address#:.~:text=An%201Pv6%20address%20is%
20represented,0000%3A8a2e%3A0370%3A7334\

QUESTION 4
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In which Spanning Tree protocol state does a port record MAC addresses but does not forward the data?
A. Forwarding

B. Blocking

C. Learning

D. Listening

Correct Answer: C

QUESTION 5

How many total addresses for network, broadcast, and host are provided with the subnet mask 255.255.255.2407?
A.8

B. 16

C.24

D. 48

Correct Answer: B
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